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Indian Social System
(MR |G awe)
M. A. Sociology (MASO-10/16)
First Year, Examination, 2017

Time : 3 Hours Max. Marks : 70

Note : This paper is of seventy (70) marks containing
three (03) sections A, B and C. Learners are
required to attempt the questions contained in these
sections according to the detailed instructions given
therein.

AlC 0 AT WA UF R (70) 3T F § S O (03) WUSH
‘@, @ qa m H el 21 R @ g9
guel # fy v favwga e & oeR &yl @
ST o B

Section-A / Vs—dh

(Long Answer Type Questions) / (&€ IR 7%H)

Note : Section ‘A’ contains four (04) long answer type
questions of fifteen (15) marks each. Learners are
required to answer two (02) questions only.

e @ue ‘@ H AR (04) <H I weE Y W E
TG W B fov TwE (15) 3@ fuiRa €
el @1 g W @A 1 (02) WA B ST o
g |
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1. Define Joint Family and explain the impact of
urbanization on Joint Family.

Y URIR B GRAINT DHIY T Fad IRIR W
TRIGRYT & JTal Bl e Bifry |

2. What is Kinship system ? Describe the main types of
Kinship.

AR WAl ®/T 8 ? AKGR! & U UBRI Bl
faaraT HIforg |

3. Discuss the various patterns or kinds of Social Change.
AHING URaad @ A= ufomsl a1 aRl o @@
DI |

4. Define Modernization and discuss the factors
encouraging Modernization in India.

AYFGIART D UREINT FINGY T WRG A
YD Bl YA A &R dlel HRDI Dl
AT DI |

Section-B / Yrs—g
(Short Answer Type Questions) / (g ITRIF U%H)

Note : Section ‘B’ contains eight (08) short answer type
questions of five (05) marks each. Learners are
required to answer six (06) questions only.

Al @ug @ # A6 (08) Y Ia U fd W
TAE Y @ fog U@ (05) e fEiRd T
el @1 g7 ¥ 39 B (06) YTl b SR oA
gl

1. Impact of urbanization in Rural Society.

IO FHTS TR TR Bl YT |
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2. Importance of Indian Culture.
WRAR el @7 w8 |

3. Main objectives of Hindu Marriage.
fomq R & 7@ e |

4. Problems of Tribal Society.
ST AT &) AT |

5. Factors of Change in Hindu Marriage.

fewg fare 4 uRacs & R |

6. Differentiate between Caste and Class.
ST U a7 H 3R |
7. Is India a Culturally Plural Society ? Discuss.
TR IRA T RGOS I8 Al g 2 fadaer sy |

8. Characteristics of Westernization.
qf¥eHieRor B Rt |
Section-C / YUvs—1T
(Objective Type Questions) / (@IS T)
Note : Section ‘C’ contains ten (10) objective type

questions of one (01) mark each. All the questions
of this section are compulsory.

dlc ;. @ue T H 9 (10) TRMTS WA @ W 2| RS
T & fov e (01) o fEiRT B 39 w@ve @
T g e €|

Write True/False against the following :

fy=forRad & e 9 /3 forlRav

1. Hindu marriage is a social contract. (True/False)
fg=g faare ve A |wsilar 7 | (A / 37)
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2. Caste is a Open Class. (True/False)
ST U Gell a1 % | (T / 1)

3. ‘Mechar’ is necessary condition of Muslim Marriage.
(True/False)

WY AR faare o afvad o B (A /o)

4. Environment is being influenced by social

development planning. (True/False)
ARG BT AT | qafaRer e BT R |
GRVASR)

5. Political authority is based on ascribed status.
(True/False)

oS I e IRt W emIRd 21 (T /31cd)

Match the following :

Frferad @ gifrd R -

6.  Father-Son (@) Achieved Status
g3 i aRerf

7. First Backward Class (b) Auguste Comte
Commission
e fUser avf SmanT IR DI

8.  Property (c) Kinship
REIiS] AR

9.  Father of Sociology (d) Kaka Kalekar
FAOA & oD BB PTeTd?

10. Cultural Leg (e) Ogburn
RIRSARCRERECE] CIUCE!
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